

BOARD OF SUPERVISORS AGENDA LETTER

Agenda Number:

Clerk of the Board of Supervisors

105 E. Anapamu Street, Suite 407 Santa Barbara, CA 93101 (805) 568-2240

Department Name:

Parks

Department No.:

052

For Agenda Of:

12/19/2006 Administrative

Placement: Estimated Tme:

Continued Item:

No

If Yes, date from:

Vote Required:

Majority

TO:

Board of Supervisors

FROM:

Department

Jason Stilwell; Parks Director 568-246

Director(s)

Contact Info:

Coleen Lund, Parks Project Manager; 568-2470

SUBJECT:

Notice of Completion, Statement of Final Quantities for the Construction of

Richardson County Park Pedestrian Bridge; Project No. D61007; Fifth

Supervisorial District

County Counsel Concurrence

Auditor-Controller Concurrence

As to form: N/A

Other Concurrence: N/A

As to form: N/A

Recommended Actions:

That the Board of Supervisors:

- A. Review and approve the Statement of Final Quantities for this project by the contractor, Thomsen Landscape, 18800 Erwin Street, Reseda, CA 91335 in the amount of \$188,240.00.
- B. Accept the Notice of Completion for the project and direct the Clerk of the Board to Record.

Summary Text:

This project was accepted as complete by County Parks on March 21, 2006. The project consisted of the removal of an existing pedestrian wooden bridge, the construction of two new concrete abutments, and the furnishing and installation of one new pre-fabricated weathersteel pedestrian bridge, located within Richardson County Park in the community of Cuyama.

Notice of Completion, Statement of Final Quantities for the Construction of Richardson County Park Pedestrian Bridge; Project No. D61007; Fifth Supervisorial District 12/19/06
Page 2 of 3

Background:

This project replaced one of two pedestrian bridges located within Richardson County Park. The older bridge that this new bridge replaced was removed. The bridge spans an existing wet weather creek and allows pedestrian travel to and from adjacent residential areas to the park.

A second older bridge still exists on the park site and has been closed to pedestrian access until an easement can be pursued with the neighboring parcel owner that will allow access from the park to the nearby school. The new bridge for this location has been purchased and is in storage pending it's construction within the park. County Parks has been delaying the completion of this contract to keep the contractor available to install the second bridge, but as the second bridge installation is no closer to being scheduled, Parks has determined it fair and responsible to close this contract.

Fiscal and Facilities Impacts:

Budgeted: Yes

Fiscal Analysis:

Funding Sources	Current FY Cost:	Annualized On-going Cost:	 al One-Time oject Cost
General Fund	,		\$ 40,785.00
State Prop 12 Federal			\$ 102,500.00
Fees			
Other: Quimby			\$ 44,955.00
Total	\$ -	\$ -	\$ 188,240.00

Narrative: Funding for this project was provided from Quimby, Proposition 12 Roberti-Z'Berg Harris grant funds and General Fund Deferred Maintenance funding.

Staffing Impacts:

Legal Positions: FTEs: N/Δ





Notice of Completion, Statement of Final Quantities for the Construction of Richardson County Park Pedestrian Bridge; Project No. D61007; Fifth Supervisorial District 12/19/06
Page 3 of 3

Special Instructions:

Clerk of the Board to Record the executed Notice of Completion and provide one copy of the recorded Notice to County Parks; attn. Coleen Lund.

Clerk of the Board to provide one copy of the executed Statement of Final Quantities to County Parks; attn. Coleen Lund.

Attachments:

Notice of Completion Statement of Final Quantities

Authored by:

France Veillette, Civil Engineer Associate; 568-2473

cc:

Public Works

NOTICE OF COMPLETION

Notice is hereby given that the County of Santa Barbara, State of California, as owner of the public work hereinafter described did on the 23rd day of September, 2005 enter into a contract with Thomsen Landscape, 18800 Erwin Street, Reseda, CA 91335, for the Pedestrian Bridges at Richardson Park in New Cuyama; Project No. D61007. That pursuant to the laws of this State as provided in said Contract, said Contractor filed with the County good and sufficient Contractor's Bonds executed by the following Surety:

Performance Bond (100% Contract Price)
Contractors Bonding & Insurance Company - \$188,240.00

Payment Bond (100% Contract Price)
Contractors Bonding & Insurance Company - \$188,240.00

That on the day 21 of March,2006 the work called for by said Contract was completed by said Contractor.

COUNTY OF SANTA BARBARA STATE OF CALIFORNIA

Director of Public Works

PEDESTRIAN BRIDGES AT RICHARDSON PARK IN NEW CUYAMA; PROJECT NO. D61007

STATE OF CALIFORNIA

COUNTY OF SANTA BARBARA)
PHILLIP M. DEMERY, being duly sworn says: that he is an Officer of the County of Santa Barbara, State of
California, Director of Public Works; that he is duly authorized to make the verification of and on behalf of said
County, that he has read the foregoing Notice of Completion and knows the content thereof; that the same is true
of his own knowledge except as to those matters which are therein stated and on his information or belief and as
to those matters he believes it to be true. Director of Public Works D
Subscribed and sworn to before me
this, 2006.
MICHAEL F. BROWN, Clerk of the Board
By: Deputy



STATEMENT OF FINAL QUANTITIES OF CONTRACT ITEMS, EXTRA WORK, AND/OR DEDUCTIONS FOR

PEDESTRIAN BRIDGES AT RICHARDSON PARK IN NEW CUYAMA PROJECT NO. D61007

TOTAL CONTRACT ITEMS: (Refer to Exhibit A attached)	\$ 145,416.00
ADJUSTMENT OF COMPENSATION: TOTAL OF EXTRA WORK	\$ 5,199.61
NET PAYMENT TO CONTRACTOR	\$ 150,615.61
ACCEPTED AS FULL PAYMENT: DATE: //-21-06	CONTRACTOR: Thomsen Landscape By: Mule M. Mourgen
	Title: Merle G. Thomsen, Owner
APPROVAL RECOMMENDED:	Project Engineer DATE: 11/03/06
APPROVAL RECOMMENDED: Directo	Alis M. CARLO DATE: 11/28/06 or \ Assistant Director of Public Works
APPROVED:Chair, Board	DATE: d of Supervisors

Project Name: Richardson Park - New Cuyama Pedestrian Bridges

Project No. D61007

13-Sep-06

Item	Description	Unit	Quantity	Unit Price	Total	% Done	Total 1
-	Demolition of Bridge	EA	2	\$7,600.00	\$15,200.00	50	\$7,600.00
2	Concrete Bridge Abutement complete in place	Ę	4	\$17,000.00	\$68,000.00	57	\$38,760.00
3	90'-6" South Bridge complete in place	Æ	_	\$56,340.00	\$56,340.00	06	\$50,706.00
4	78-7" North Bridge complete in place	⊴		\$48,000.00	\$48,000.00	100	\$48,000.00
5	Decomposed Granite Area	SF	70	\$10.00	\$700.00	50	\$350.00
						Sub-Total	\$145,416.00

***************************************					***************************************			
C02	Item #2	Item #2 South Abutment Auger Truck Charge	EA	1	\$295.53	\$295.53	100	\$295.53
C02		Markup on Subcontractor (5%)	%	295.53	0.05	\$14.78	100	\$14.78
C02		Short Load Charge on Concrete Delivery	EA	2	\$80.00	\$160.00	100	\$160.00
CO2		Markup on Materials (15%)	%	160.00	0.15	\$24.00	100	\$24.00
C02	Item#3	Item#3 Crane Travel Time for one Bridge instead of two	HR	2	\$325.00	\$650.00	100	\$650.00
CO2		Markup on Subcontractor (5%)	%	650.00	0.05	\$32.50	100	\$32.50
CO2	General	General Labor Stanby Time	HR	48	\$45.00	\$2,160.00	100	\$2,160.00
CO2		Markup on Labor (33%)	%	2,160.00	0.33	\$712.80	100	\$712.80
CO2	General	General Backhoe Stanby Time	DAY	5	\$200.00	\$1,000.00	100	\$1,000.00
C02		Markup on Equipment (15%)	%	1,000.00	0.15	\$150.00	100	\$150.00
	700000000000000000000000000000000000000		-	CONTRACTOR OF THE PROPERTY OF	and the second s		The state of the s	The same of the sa

\$5,199.60	\$150,615.60
Sub-Total	TOTAL

4/4

Markups (Caltrans Standard Specifications)

Labor 33%

Material 15% Rental 15%

Subcontractors 5%